Name:
	Copley Academy

	Computing Department: Homework 


Answer the following question 
1.  The following code uses IF statements to display an answer depending on the input. The number of lines can be reduced using ELSEIF. Rewrite the code to make use of ELSEIF in the box.
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Textuindow.WriteLine("Choose a chocolate using the number next to the item")

Textiindow.riteLine("1 : Giant Buttons")
Textuindou.lriteLine("2 : Galaxy"
Textuindow.WriteLine("3 : Milkybar") EndIf

choice - Textitindow. Read() Check the Ifstatement for

choice = 1
Texthindow.iriteLine("A bag of Giant Buttons costs £2.60")

CmN o

1
11 If choice = 2

12 Textuindow.WriteLine("A bar of Galaxy costs £1.66")
3

14 If choice = 3

15 Textwindow.WriteLine("A Milkybar costs £1.59")
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T Textiindow.uriteLine("Choose 3 chocolate from the 1ist")

2 Textiindow.lriteLine("1 : Buttons”)

3 Textiiindou.lriteLine("2 : Galaxy"

4 choice = TextWindow.Read() EndIf

s Check the I statement for

q

7 1 choice = 1

8 Textuindow.uriteLine("Buttons cost £2.00")

s

10 choice - 2

11 Textiindow.uiriteLine("Galaxy cost £1.60")
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